
Find the GAP 

Independent Actuaries CA/56/19... NO GAP 

Pensioners’ Association... NO GAP 

epi... NO GAP (“A dystopian fiction”) 

Staff Representation... NO GAP 

President... “GAP of €5.8 billion” (maybe in 2038) 



RFPSS value (CA/56/19) 



RFPSS 
(Reserve Funds for Pensions and Social Security) 

 RFPSS fully covers:  
 

– ALL Defined Benefit Pensions  (OPS and NPS) 

 

– Health Care Insurance Fund (all staff & pensioners) 

 

– Long Term Care Insurance (all staff & pensioners) 

 



Funding of liabilities should be forecast over a 
long period not based on instantaneous 

assumptions (“buffer” of €2 billion?) 





EPOTIF 
(EPO Treasury Investment Fund) 

  

• Cash reserves generated by the EPO.  

 

 

 

 

 

• Buffer ??? 



Base 2 Scenario is a stress scenario 
Financial Study assumptions: 
 
 

– Economic outlook is based on current European 
Systemic Risk Board stress test scenario (CA83/19, p.20)  

– Economic growth is lower than that forecasted by OECD, 
World Bank, IMF 

– Interest rate is below established theories 
– Equity returns are below capital market assumptions 
– Filing numbers growth is slower than before (0.9%) 
 

And then the Financial Study recommends: 
 

– We need a €2 billion “buffer” 



How to turn a gap into a surplus 
 • Invest the cash surplus @ Base Case 2 returns (@ BC1 returns) over the next 

20 years in the funds instead of assuming a 0.02% return: €2 billion (€2.4 bn) 
 

• Adjust your fees with inflation over 20 years to earn an extra €2.2 billion 
instead of assuming no increase and losing 20% in 2038 in real terms 
 

• Invest the €2.2 billion from fee adjustments in the EPOTIF or RFPSS and earn 
another €0.6 billion @ Base Case 2 returns (€0.6 billion @ BC1 returns) 
 

• Take into account the €1.2 billion extra the EPO will earn because of a 
productivity increases due to digitalisation 
 

• Take in account the pension contribution increases recommended by the 
actuaries, bringing in €0.3 billion (Measure 10) 
 

• Reduce by 50% the proposed plans for buildings (the “beloved” Glass Walls, 
etc.) and save €0.35 billion 

• ... and more 
 

2 + 2.2 + 0.6 + 1.2 + 0.3 + 0.35 = 

+€6.65 billion ... and more 



No measures degrading    
staff’s conditions are needed 

  
 

The Office ignores  €6.65 billion... and more, over  
20 years. 

 

The GAP is actually a SURPLUS, even in the 
stress Base Case 2 Scenario 

 
  



... and more 
Base Case 2 with Base Case 1 returns 

 
By 2038 the funds would be worth €1.8 billion more 
with Base Case 1 returns* than they would with Base 

Case 2 returns. 
 

2.4 + 2.2 + 0.6 + 1.2 + 0.3 + 0.35 + 1.8=  

+€8.85 billion Surplus 
 

* RFPSS   (BC1: 4.5%; BC2: 3.3%; last 20 years: 6.6%) 
   EPOTIF (BC1: 4.2%; BC2: 3.2%;  no meaningful history) 



CA/56/19  

63.“The Group further noted that any approach other 
than adopting an assumption of future investment 
return that has a 50% probability of being achieved 
(a "best estimate" assumption) could lead to an 
unnecessarily high risk either of building up 
surpluses or of the assets being insufficient to meet 
the liabilities. Using a "best estimate" assumption 
should lead to a contribution rate that represents 
the long-term cost of providing the benefits, 
accepting that short-term fluctuations around the 
"best estimate" assumption will lead to fluctuation 
in the funding ratio (see paragraph 95).” 

64.“The Group has therefore decided to adopt a 
discount rate of 3.25%.” 

 


